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The following combination graph 
shows the number of days required to 
complete a part of a fixed amount of a 
work by six different persons Akhil, 
Ram, Robert, Seema, Mohan and 
Jacob. Study to interpret the data 
carefully and answer the following 
questions:
िनिÌलिखत सयंुĉ आरेख िकसी िनिĲत कायª 
के िहÖसे को समाĮ करने म¤ छ: अलग अलग 
ÓयिĉयŌ अिखल, राम, रोबटª, सीमा, मोहन 
और जैकब Ĭारा िलया गया िदन दशाªया गया 
है. िदए गए आंकड़Ō को समझने के िलए 
सावधानीपूवªक अÅययन कìिजये और 
िनिÌलिखत ÿĳŌ के उ°र दीिजये:
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In how many days Ram and Seema 
working together could complete the 
whole amount of the work.
राम और सीमा िमलकर पुरे कायª को िकतने 
िदनŌ म¤ समाĮ कर सकते है?
1. 4 2. 5 3. 7 4. 8
5. 6
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Ram and Mohan are given the task to 
complete a work in the days as 
required according to their 
efficiencies; but after few days; 4 days 
before the completion of the work; 
Ram was not able to report to work 
with Mohan. Find the delay in 
completing the given task.
राम और मोहन को अपनी कायª±मता के 
िहसाब से एक कायª को समाĮ करने का
उ°रदाियÂव िदया गया; लेिकन कुछ िदनŌ के 
बाद; कायª समािĮ के 4 िदन पहले; राम मोहन 
के साथ काम करने नही आ पाया. िदए गए 
कायª को समाĮ करने म¤ हòई देरी ²ात कìिजये.
1. 2 2. 3 3. 2.5 4. 3.5 5. 1
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Jacob (whose health is not good) and 
Robert start working together. Due to bad 
health Jacob works with half of his 
efficiency. So in order to complete the 
work on time (the days as decided 
according to their actual efficiency) 
Robert works with x times of his actual 
efficiency. The value of x is:
जैकब (िजसका ÖवाÖÃय अ¸छा नहé है) और रॉबटª 
एक साथ काम करना शुł करते ह§। खराब ÖवाÖÃय 
के कारण जैकब अपनी द±ता के आधे के साथ 
काम करता है. तो समय पर काम पूरा करने के िलए 
(जो िदन उनकì वाÖतिवक द±ता के अनुसार तय 
िकया गया था) रॉबटª अपने वाÖतिवक द±ता के x 
गुने के साथ काम करता है. x का मान है:
1. 1.24 2. 1.23 3. 1.22 4. 1.25 5. 1.20
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In how many days Akhil, Ram, 
Robert, Seema, Mohan and Jacob 
working together could complete two 
third of given amount of the work?
िदए गए कायª का दो ितहाई िहÖसा अिखल, 
राम, रोबटª, सीमा, मोहन और जैकब एक साथ 
काम करते हòए िकतने िदनŌ म¤ समाĮ कर 
सकते है?
1. 2.22 2. 1.33 3. 2.33 4. 
3.33 5. 3
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The graph given below shows the 
percentage of literates in three 
different villages in three years.
नीचे िदया गया úाफ तीन वषŎ म¤ तीन 
अलग-अलग गांवŌ म¤ सा±रता का ÿितशत 
दशाªता है
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If population of A in 2000, 2008 and 2012 is 
in ratio 2 : 3 : 4 and average of literate in 
2008, 2012 and 2000 be 1410 then find 
population of village A in 2000.
यिद 2000, 2008 और 2012 म¤ A कì जनसं́ या 
2:3:4 के अनुपात म¤ है और 2008,2012 और 2000 म¤ 
सा±र होने का औसत 1410 है तो 2000 म¤ गांव A कì 
जनसं́ या ²ात कर¤।
A. 1700   
B. 2000   
C. 2100   
D. 1800   
E. 2200
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Population of village C continuously 
decreases from 2000 to 2012 and it decreases 
by the same number in 2012 from 2008 as it 
decreased in 2008 from 2000. If literate in C 
in 2008 and 2012 are same then population of 
C in 2012 is what percent less than 
population of C in 2000./गाँव C कì जनसं́ या 
लगातार 2000 से 2012 तक घटती जाती है और यह 
2008 से 2012 म¤ समान सं́ या से घटती है िजतना यह 
2000 से 2008 म¤ घटती है । यिद 2008 और 2012 म¤ 
C म¤ सा±रता समान है तो 2012 म¤ C कì जनसं́ या 
2000 म¤ C कì जनसं́ या से िकतना ÿितशत कम है ।

A. 44
𝟐

𝟕
%  B. 44 
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%  C. 41 
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E. 45 
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%
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Sum of literate from village B in 2000 and 
2008 is 1530 and sum of literates in 2008 and 
2012 is 2010. If sum of literates from villages 
B in all the given years is 2490 then find 
population of village B in 2008.
2000 और 2008 म¤ गांव B से सा±रता का योग 1530 
है और 2008 और 2012 म¤ सा±रता का योग 2010 है। 
यिद सभी िदए गए वषŎ म¤ गांवŌ B से सा±रता का योग 
2490 है, तो 2008 म¤ गांव B कì जनसं́ या का पता 
लगाए।ं
A. 2625  
B. 1200  
C. 2000  
D. 2150  
E. 2050
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Thank You
धÛयवाद 


